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M. A. (ECONOMICS) (MEC)
Term-End Examination
June, 2025
MEC-002 : MACROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from both Sections as

per instructions.

Section—A

Note : Answer any two questions from this
Section in about 700 words each.

2x%20=40

1. Bring out the salient features of the Solow

model. Explain the effect of population
growth on output growth rate.

2. Explain how simultaneous equilibrium in

the real sector and the monetary sector

takes place. Why does the economy move to

an equilibrium position automatically ?
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3. Discuss the issues that the Lucas critique
addresses. In this context, explain the
concepts of microfoundations and rational

expectations.

4. Discuss the issue of price and wage rigidities

In an economy.

Section—B

Note : Answer any five questions from this
Section in about 400 words each.

5x12=60

5. Explain why the shape of the Phillips curve

changes when we introduce expectations.

6. In the context of the efficiency wage model,
explain why actual wage rate may be higher

than equilibrium wage rate.

7. Give a brief account of the search and

matching model of unemployment.
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8. Explain why monetary policy may not be
effective if the economy is operating with
fixed exchange rate.

9. What is meant by a business cycle ?
Describe the political business cycle theory.

10. Discuss the issues and implications of the
permanent income hypothesis.

11. What is meant by Liquidity Preference ?
Explain its relevance for an economy.

12. Write short notes on any two of the

following :

(a) Various schools of macroeconomic

thought
(b) Leading indicators of business cycles

(¢) Real business cycle theory
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